e 8 R A SCRHE TS50
2 B W 5

R { ﬁ'm'—?«[ﬁi -

¥ R & 2
moE A Lrh’zl*ﬂwﬁ%%m | S B BT 5
——U\mﬂLT a] 9
mOH AR b
o= H % Hl — MR H
W H % 5 SKHS2016B06
B HE TR

—O— 7N



HMBZBRER

(Bfi: A)

— & % kR
ZHRIE £ A
1B VB BB R E F 0.60
2ERBEBER 0.00 0.60
3HAREE & 0.00
AR B WE
Z B Hh AW BHR R
ZHRF LW
E &5 WHEH HEESM | RELH
—. WAL H
1LRBIE 55 %%
Q) PR/ E
(2) BEVRB /1%
(3) SWHIEmRH 0.12 0 0.12 0
(4) WRYISCERME BAE1E SR 0.30 0.13 0.30 0.13
(5 e (A%, BRI 0.10 0 0.10 0
2. EIGPPRL B
(1) JFEARLARTZ S B 3%
(2) HE GEERD
3AX BB AR
(D BWE
(2) &l
4R AR
5. MER
« Hir&EE R
=55
. HAh 0.08  e=ie003 0.08 0.03
it 069?""“’ Ho. 16"%\ 0.60 0.16
FRAGHE T %ﬁﬁliﬁfﬁ%,@ Q
\ ‘W‘
l/] % \# 70189, 4

w% ‘?’ﬁl

&

@\’%x 3

00,@& FHIT S B TRV 4501 1 36 28

“\mx-‘” o




